e Select the starting frame number and click OK.

Begin tracking
from the second
frame because
velocity can not be
calculated for the

first frame.

Choose starting point For L. _____..

Maxirmum number of plots to fill simultaneously (use lower number to avoid memory error): 200

Go through the images and choose the 'earliest’ frame that can be treated as reference to be tracked across all frames
Tracking will be done from this point onwards

If you chose single segmentation ‘ref ROLzip' for all images, then you need to choose the frame that correspond to ref ROLzip
For AcTrM data, with velocity information: choose 0002.tif or later frame

For AcTrM data, without velocity information: choose 0001.tif or later frame
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